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& ;T ) secx+1 —(a+bsinx)5(c+dcosx)}
x
d d (secx—1) =
qa — = - B r } 2
dx /) dx (secx+1) (c+d cosx)
d [(e +d cos x) (O+ b cos x)
[(sec x+ 1)% (secx—1) _ —(a+bsinx) (0+d .(— sin x))]
d (c+d cosx)2
—(secx—l)a(secx-i- 1)} [(¢c+ d cos x) beos x
= ( +1)2 + d sin x (a + b sin x)]
sec x =

(c+d cos oc)2

(bc cosx + bd cos? x

[(sec x + 1) (sec x tan x — 0)
_ —(sec x— 1) (sec x tanx + 0)]

a (sec x + 1)? _ + ad sin x+ bd sin® x)
[sec x tan x (sec x + 1) (¢ + d cos x)2
_ —secx tan x (secx — 1)] [(bc cosx + ad sin x)
- (secx + 1)2 _ + bd (sin2 x + cos? x)]
sec x tan x (sec x + 1 Bl (c+ d cosx)?
—secx+1) bc cosx + ad sinx + bd

(sec x + 1)2 (c+ d cos x)2
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[ sin? 0+ cos? 6 = 1]

31d: fSU T %o &1 STahers!
_ bccosx+ ad sinx + bd

I

(c+dcosac)2

—— sin (x+a)

cos X

sin (x + a)

DA R y= ————
b Y cos x

dy _d(sin(x+a))

dx dx Cos X

d .
[cos x-— sin (x +a)
dx

. d
—sin(x+ a) e cosx}
x

COS2 X

d .
[cosx — sin{x + @)
dx

‘%(x +a)— sin (x + a)-% cosx}

COS2 X

[cosx. cos (x+ a).(1+ 0)
— sin (x + a) (— sin x)]
cos” x
[cos(x+ @) .cos x+ sin (x + @) . sin x]

COS2 X

cos (x+a—x)  cosa

0082 X COS2 X

cos a
31d: ST T FeM T 3Tashers] = I
C0S2x

WeT 22. x* (5 sinx— 3 cosx)
B : S T we
f(x)= x4.(5 sinx — 3 cosx)
LEl f(x)w TR
*f(x)

— x (5 sinx — 3 cos x)

= x4 i (5 sinx— 3 cos x)

+ (5 sin x — 3 cos x)i (x4)
dx

=x* [5cos x— 3(— sin x)]
+ (5 sinx — 3 cosx) 4x3
= x4(5 cosx + 3 sinx)
+ 4x° (5 sinx — 3 cos x)
= 5x* cosx + 8x* sin x
+ 20x% sinx — 122 cos x

s,

=3 (5x cos x + 3x sin x
+ 20 sinx — 12 cos x)
31a: U T e 1 Taehers]
= x> (5x cos x + 3x sin x
+ 20 sinx — 12 cos x) 3T
e T 23. (x® + 1) cos x
B : fean T we
f(x)= (x2 + 1) cosx
LE] f(x)_Oh'l GCCIoE]

- f(x)

[(x + 1) cos x]

(x +1)i(cosx)+cosx (x +1)

—(x +1)(—51nx)+c05x(2x+0)
—(Jc2 + 1) sin x + 2x cosx
Ha: fU U Fe F1 3rFFer
= — x2 sin x+ sin x+ 2x cos x 3
9T 24. (ax* + sinx) (p+ q cos x)
BT WWW
fx)= (ax + sin x) {(p + q cos x)

2 fey=~

[(ax + sin x) (p + q cos x)]
- (ax + sinx)i (p+ q cos x)
dx

+(p+ q cos x)di (aoc2 + sin x)
x

= (ax2 +sinx) [0+ q.(— sinx)]
+(p+ g cos x) (a.2x + cos x)
= — ¢ sinx (ax® + sinx)
+ (p+ g cos x) (2ax + cos x)
oa: fRu T we w1 STEHaS
= — ¢ sinx (ax? + sinx)
+{(p+ g cos x) (2ax + cos x) I
WIT 25. (x+ cos x) (x— tan x)
B : fean T wer
f(x)= (x+ cos x) (x — tanx)

d d
qd, In f(x)= I [(x+ cos x) (x — tan x)]

= (x+cosx)i(x— tan x)
dx

+(x—tanx)di(x+cosx)
x

=(x+cosx)(1— sec? x)

+ (x — tan x) (1 — sin x)
= (x+ cos x) (— tan? x)

+ (x — tan x) (1 — sin x)
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= — tan? x (x + cos x) x2 cos(n)
+(x — tan x) (1 — sin x) e 217.
3q: foU T e &1 3Tadhers]

sin x

& o ™ wen

= — tan® x (x + cos x) 5
. x cos() 9
+(x—tan x) (1— sin x) 3T 4 Tox
4x+ 5 sin x f(x)=.7=cosz.7,
X cos X d d
4x + 5sin x o df(x)=cosZ°d(?C ]
x x | sin x
B fom ™ wed f(o)=

3x+ 7cos x
(. cos% 3= 21)

?ITs[df() d (4x+ 5 sinx J 3
B O A i /
dx dx \3x + 7 cos x sin x — [xz]—ac2 — (sin x)
7 dx dx
d . = cos —. 3
[(Bx + 7 cos x) dn (4x + 5 sinx) 4 sin® x
X 7 (sin x.2x — x°.cos x)
_ d = cos —. 3
— (4x+ 5 sinx) — (3x + 7 cos x) 4 sin” x
_ dx _Cosz‘x[2sinx—xcosx]
(3x + 7 cosx)? B 4 sin? x
[(3x + 7 cos %) (4 + 5 cos x) &7q: fSW T e 1 ST
_ — (4x + 5 sin x) (3 — 7sinx)] % cos =~ [ 2 sin x — x cosx]
= 2 L 4 I
(3x + 7 cosx) I 2
sin” x
[(12x+ 28 cosx+ 15x cosx + 35cos? x) q9T 28 X
— (12x+15sinx— 28xsinx— 35 sin” x)] Ny .
- 2 : To = wem =
(Bx + 7 cosx) & ) 1+ tan x
(12x + 28 cosx + 15x cos x = d ) d X
. 3 Sl
+35cosx— 12x— 15sinx dx dx \1+ tanx
. . d d
_ + 28 sin x + 35 sin? x) [(1 + tanx) n (x)— xd— a+ tanx)]
= x
(Bx+ 7 cosx)2 = zx
i 1+ tan x)
[28cosx — 15 sinx + 15x cos x 9
5 ) {1+ tanx). (1) — x [0+ sec” x]
_ + 28x sinx + 35 (cos” x + sin” x)] = (1+ tan x)2
- 2
(3x + 7 cosx) _ l+tanx— x sec? x
(28 cos x — 15sin x + 15x cosx . (1+ tan x)2
= + 228x sin « + 35) #d: ST 7T Fer 1 AThAS
(3x + 7 cosx) 1+ tanx — x sec? x
.9 2 - 2 ST
[ sin® 8+ cos” 6 =1] 1+ tan x)
37a: fou U wem &1 TSt U¥T 29. (x+ sec x) (x— tanx)
(28 cos x — 15sin x + 15x cosx & : fon T e

+ 28x sin x + 35) f(x)= (x + sec x) (x — tan x)

d
(Bx+17 cosx)2 ad %f(x) = dx [(x + sec x) (x — tan x)]
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= (x+ secx)i(x—tanx)
dx

+(x—tanx)di(x+ sec x)
X

=(x+secx)(1— sec? X)
+ (x — tanx) (1+ sec x tan x)
31d: U T e 1 STaherst
=(x+secx)(1— sec? X)
+ (x — tanx) (1+ sec x tan x)

3T

oo T 30. —

sin™ x

T o T % [ (o) =

‘ sin” x
T8l U8 sin”* x 1 STTHTS G HLAT BT
T Ty = sin” x = (sin x)"

l_ix n =i n
dx dx ST YTt
(sin x = z A W)
_d . dz_ a1 d
_dz(z) d =nz .dxz
=nsin”_1x.d—sinx
X

(z = sin x T@1 W)

=nsin” ! x.cosx

d . .-
— (sin" x)= n sin” " x. cos x ..(1)

dx
d d X
def(x)=( )

dx \gin" x

sin” xi(x)—xi (sin” x)

dx dx
(sin” x)?

sin” x.(1) — x.(nsin” ' x cosx)
(sin” x)2
L xcosx

x— nx sin” ~

(sin” x)?

gin”

[THreRTOT (1) ]

_sin” Ly (sinx — nx cosx)

sin” x.sin” x
(sin x — nx cosx)  sinx — nx cosx

sin® t 1y

sinx . sin” x

3q: fQU 7T el 1 et
sin x — nx cosx
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0
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